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2. 下図ᶒᶬᵪᶏ x 軸Ჾ原点 O ᶶᶌᶯᲿ電場 E ᶓ x 軸方向ᶶ向ᵳᵯᶭᲾ微分形Gaussᶒ法則ᶬᶮ




€ 

x > d

 


€ 

dE x( )
dx

= 0


………①




€ 

x ≤ d

 


€ 

dE x( )
dx

=
ρ
ε0 


………②

①ᶬᶮ

€ 

x > dᲾ

€ 

x < −dᲽᶒ領域ᶋ電場ᶓ一定ᶄᵯᶭᲾ

€ 

x > d Ჽᶋ

€ 

E x( ) = E  ᶌᵮᵵᶔᲾ 

€ 

x < −d ᲽᶋᲽ

€ 

E x( ) = −E

②ᶶ積分ᵽᶯᶌ

€ 

−d ≤ x ≤ dᶒ領域ᶋᶓ




€ 

E x( ) =
ρx
ε0

+ C

€ 

E x( )ᶓ

€ 

x = ±dᶋ連続ᶄᵯᶭ




€ 

ρd
ε0

+ C = E

 


€ 

x = d( )




€ 

−
ρd
ε0

+ C = −E



€ 

x = −d( )

ᶬᶮᲾᲽ

€ 

E =
ρd
ε0
, 

€ 

C = 0




€ 

∴E x( ) =

−ρd ε0
ρx ε0
ρd ε0

 

 
 

 
 

x < −d( )
−d ≤ x ≤ d( )
x > d( )

xO d-d

E E


